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PUBLIC ADMINISTRATION

PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

1. “In simplest terms administration is
determined action taken in pursuit of
a conscious purpose.” This statement
IS given by :
(A) Z.A.Vieg
(B) Pfiffner
(C) Nigro
(D) Marshall E. Dimock

2. Of the three distinctions made by
Simon between Public and Private
Administration, which one of the
following is not among them ?

(A) That public administration aims
at social welfare, while private
administration IS profit
oriented.

(B) That public administration is
bureaucratic, while private
administration is business like.

(C) That public administration is
political ~ whereas  private
administration is non-political.

(D) That public administrtion is
characterized by red tape from
which private administration is
free.

3. Which of the following is not a feature
of a formal organization ?
(A) Legal status
(B) Permanence
(C) Primacy of structure
(D) Shared values and common
standards of behaviour

4. Which one of the following is not

correct about Woodrow Wilson ?

(A) He was a professor of Political
Science.

(B) He was the President of USA.

(C) He was the first comparativist in
Public Administration.

(D) He was the Chairman of the
American Society for Public
Administration.
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5.

Match List — | with List — Il and
select the correct answer from the
codes given below :

List -1 List—11
(Book) (Author)
a. The i. L. Urwick
Administrative
State
b. Administrative ii. F.W.
Theories and Willoughby
Politics
c. The Elements iii. Dwight
of Waldo

Administration

d. Principles of iv. Peter Seef
Public
Administration

Codes :

a b Cc d
A i i i v
(B) iii v i ii
C) i i iv il
(D) iv i i i

Assertion (A) : M.P. Follett can be
considered as a link between
the classical and behavioural
theories.

Reason (R) : M.P. Follett developed
certain principles and their
universality as well as stressed
on the importnace of emotions.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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10.

‘A process of fusion of individual
aspirations with organisational goals,
individual skills with organizational
position and individual conduct with
organizational role’ is advocated by
(A) Chester Bernard

(B) Rensis Likert

(C) Chris Argyris

(D) Kurt Lewin

Co-existence of formally
differentiated structure of a diffracted
society with undifferentiated
structure of fused society has been
described by F.W. Riggs as

(A) Heterogeneity

(B) Formalism

(C) Overlapping

(D) Poly communalism

Valence Expectancy, as an
alternative theory of motivation was
propounded by

(A) Paul Hersey and Keneth H.
Blackchard

(B) Black and James Mouton

(C) Victor H. Vroom

(D) Hobhouse

Assertion (A) Leadership is
defined by result, not attributes.
Reason (R) : The productivity of
work is not responsibility of
worker, but of the manager.
Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.
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11.

12.

13.

In the context of the New Public
Management theory, the
administration is apparently moving

(i)  from rule to result orientation
(i)  from system to enterprise

(iii) from the duties of
administration to the rights of
citizens

(iv) from decentralisation to

centralisation.

Select the answer by using the codes
given below :

Codes :

(A) (i) and (iv)

(B) (iii) and (iv)

(C) (i), (i) and (iii)
(D) (i), (iii) and (iv)

“Organization is the form of every
human association for the attainment
of a common purpose.” This
statement is given by

(A) J.D. Mooney
(B) L.D.White
(C) John M. Gaus
(D) Luther Gullick

According to Chester Bernard an
organisation :

(i) isnot a leviathan.

(i) is  pejorative  sense  of
bureaucracy.

(iii) is a figure of organisation man.

(iv) is an impersonal system of
coordinated human effort.

Select correct answer using the codes
given below :

Codes :
(A) (i) and (iv)
(B) (i), (i) and (iii)
(C) (i), (iii) and (iv)
(D) (iii) and (iv)
D-14-13



7. AT S SIS % WE WA TR,
AT % BT & QI G fefd e
e % FTER & WY e JHeH &
GYOIOT S Uk RO FRT IR
fear T & 2
(A) T aE  (B) 9¥ forwe
(C) Frwremiim (D) < dfaA

8. ‘Il U TheS U & SUEie ©9 §
oo Geae 3R WSS WER @l
I TS o TeeTRaed & TRomg
TUH E I’ T Uh Sy, (7 + T el ?
(A)  fasTrear (B) fqers

(C) WER=MmE (D) —gEOREds

9. HERUT % duig Tegueedl ggra i
gfcare=T fehar TTar o ;

(A) U gl T Y T, AR FRT
(B) seteh @91 STHT AISSH 51U

(C) ToeX w=r. 9 51T

(D) EiweRsd g1

10. af¥ema (A) S B Ao
RO | aRwIte TR ST € o

HRT (R) : FHEACIRHAT HHE
e, Teiereh ST STREIEee Bl ¢ |

(A) (A) 3R (R) IHT @&l € @1 (R),
(A) =l &l =T |
(B) (A) ¥R (R) sHi Wl & wifeh (R),
(A) T TE AT T/ |
(C) (A)TT g, Al (R) A€ |
(D) (A) 3= ¢ i (R) T ¢ |
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11.

12.

13.

T A TR TEEe fEd % T |

DT T ST T&T &

(i) TEdgE ¥ aRoma-TE ot 3R

(i) @ sam = @R

(ili) T % wHe @ AmRE w
SMYHRT I 3T

(iv) TIhEIERROT T HEIHIOT H 3T

T fgT T F2 T ITT W TE 3T

T T HIT :

E 4

(A) (i) 7= (iv)

(B)  (iii) @ (iv)

(C) (i), (it) T (iii)

(D) (i), (i) 74T (iv)

“TTS Uk Wi LT H Wi & ferw
T OFE WY 6 9 & 7 T8 HU
fohaent & 2

(A) S (B) TS =
(C) SHuwA 7TH (D) R etk

I TS o STER Teh T
(i) U Tommersr (Afeamer) T € |
(ii) TR BT TR T E |
(i) A FTHEETE |
(iv) THfad AFEG W H UH
FefeRTeh YoM ¥ |
e 3T Fel | | FEl IR B 95T I
&<
(A) (i) T2 (iv)
(B) (i), (ii) 7= (iii)
©) (i), (iii) @ (iv)
(D) (i) T (iv)
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14.

15.

16.

Match List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List— 11
(Theory) (Thinker)

a. Classical i.  Chester
Approach Bernard

b. Human ii. Douglas
Relations McGregor
Approach

c. Systems iii. Henry Fayol
Approach

d. Socio- iv. Elton Mayo
Psychological
Approach

Codes :

a b c d

A i i v i

(B) iii i i v

C) i v i

(D) v i i [

Nicholas Henry classified various

models of policy formulation and

implementation into three broad

groups. Which one among the

following is not correct ?

(A) Exclusion/Consumption
Paradigm

(B) Incrementalist Paradigm

(C) Rationalist Paradigm

(D) Strategic Planning Paradigm

Comparative Public Administration

emphasises that

(i) organizations must be viewed
as embedded in specific
cultures and political settings.

(i)  both the study and practice of
administration are pervasively
value-loaded.

(iii) the  principles  of
administration are
inadequate.

(iv) any proper discipline must
have complimentary micro and
macro aspects.

Select the correct answer by using

codes given below :

Codes :

(A) (i), (iii) and (iv)

(B) (i), (ii) and (iv)

(C) (i), (iti) and (iv)

(D) (i), (i) and (iii)

public
seriously
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17.

18.

19.

20.

Comparative Administrative Group
(CAG) was
(i) established in the year 1963.

(if) initially funded by Ford
Foundation.

(iii) initially chaired by Fred. W.
Riggs.

(iv) established in U.S.A.

Select the correct answer from the
codes given below :

Codes :

(A) (i), (i)

(B) (i), (iii) and (iv)

(C) (), (i), (iii) and (iv)

(D) (i) only

Arrange the following institutions of
local government in UK. in
descending order. Use the codes
given below :

(i)  Metropolitan District

(i)  Metropolitan County

(i) Parish

(iv) Shire

Codes :

(A) (i), (iv), (iii) and (ii)

(B) (i), (i), (iv) and (iii)

(C) (i), (iii), (iv) and (i)

(D) (iv), (i), (ii) and (iii)

The City Manager as a Chief

Executive in council-manager form

of local government in USA is

(A) appointed by the State
Governor

(B) appointed by the Council

(C) elected by the Council

(D) appointed by the Mayor

“The Development Administration is
primarily concerned with the tasks
and process of formulating and
implementing the four P’s.” This
statement was made by

(A) Donald C. Stones

(B) F.W.Riggs

(C) Weidner

(D) Luther Gullick

D-14-13



14. gi-1 & -1 § GATAT DT qan 53
T % H ¥ el SR gHT
= - | =it - 1
GEE) (Feramean)
a. FeATEn A i, AR TS
TR
gfteshioT
b. T Fay fagid ii. ST HRITR
C. HATTATE! iii. & e
Hisea]
d. |- iv. Teed T
LEICRIEED
gfteshioT
FT
a b c d
(A) i v i
®) i i i v
() I | T \Y; i i
D) v i Qi
15. e & A Al Ao der
fperaae o o= ufdedr &t diF T
Tl § i far & | T H 9 @ A
TRl Tl & ?
(A) STIESTH ITANT U=
(B) FrETREaTR! UfcH
(C) ehasl uiqa
(D) oI FEsH afaae
16. oIS Al WRMEH Hefarad § 9 T
T A 7A€ ?
(i) @i o fafre dwpfda ae
I aReeT ¥ SR €9
T ST AT |
(i) UeTE % 3Teg a7 FER H g
Hfved AT BT § |
(iii) o Wemes & fogid TR ®1 9
YA § |
(iv) v 9e= faua § e A
AT TRl UEH] B AT |
T f5T 7T Fet A T T W G
T4
(A) (1), (iii) T (iv)
(B) (i), (ii) = (iv)
©) (i), (i) @ (iv)
(D) (i), (i) T (iii)
D-14-13

17.

18.

19.

20.

Frfed TSmRed qu (S TH)

(i) o0 T T 1963 H T off |

(i) =1 fooqoor oR=™r §  wie
RISUSYH §RT [ohaT T T |

(iii) o T 37T The Sy, g o |

(iv) o ST TITH gE off |

1 F2i 1 ITANT F §T el IR

TI HIT :

E 4

(A) (), (i)

(B) (i), (iii), (iv)

(C) (@), (i), (iii), (iv)

(D) & (i)

g % W G WHR & T Gene

H TR B § feAfgd | e @

el T ITANT I

(i) HeUicred feigese

(i) HeRifereT S

(i)

(iv) R

T

(A) (i), (iv), (iii) T (i)

(B) (i), (i), (iv) == (iii)

(C) (i), (iii), (iv) 7= (i)

(D) (iv), (i), (ii) = (iii)

I TST STRNEH H HE TWHR &
HISE TR €T H 2 FR —

(A) T FHTFR ZR R foran ST & |
(B) wr=f=aet g gt fokam ST & |
(C) HSfaet R AT ST |

(D) =R gW1 fgerT Tk T € |

‘T TR g ®Y ¥ 9RO %
FET0T T HwEEE ¥ e FE SR
TishaT ¥ Feitad & 1”7 — e fohaeht g
g7

(A) THee T 24

(B) uk =g, Rw

(C) foewX

(D) R e
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21.

22.

23.

24.

Who of the following expressed the
view that administration in the
developing countries is imitative
rather than indigenous.” ?

(A) Ferrel Heady

(B) David McClelland

(C) T.N. Chaturvedi

(D) Hahn Been Lee

Which of the following scholars is not
correctly matched with the meaning of
development given by him ?

(A) Colmand - Change plus
Geiger growth
(B) F.W.Riggs — Nation building
and socio-
economic
progress
(C) T.N. — Transformation
Chaturvedi of society
(D) Hahn-Been — Achievement of
Lee progressive
political,

economic and
social objectives

Arrange the following publications in

a correct sequence and select the

correct answer from the codes given

below :

(i)  The Frontiers of Development
Administration.

(i)  Approaches to Development,

Politics, Administration and
Change

(iii) Political Order in Changing
Societies

(iv) Cultural Hurdles in

Development Administration :
Concepts and Problems

Codes :
(A) (v) (i) (i) (i)
(B) (i) (i) (i) (iv)

(C) (v) (i (i) (i)

(D) (i) (iv) (i) (iii)
Development administration is a
process for carrying out planned
change in the economy, in agriculture
or industry or capital infrastructure
supporting either of these, and to a
lesser extent, in the social service of
the State.”

Who has given this statement ?

(A) Milton J. Esman

(B) J. Montgomery

(C) Edward W. Weidner

(D) F.W.Riggs
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25.

26.

27.

The Cabinet in India is

(i) A Constitutional body

(i)  Part of the Council of Ministers

(iii) Institutionalised by usage

(iv) Policy making institution at
highest level

Select the correct answer by using

codes given below :

Codes :

(A) (i) and (ii)

(B) (ii)and (iii)

(C) (ii) and (iv)

(D) (i), (iii) and (iv)

Assertion (A) : Under the colonial
raj, the predominant nature of
administration was regulatory
and maintenance of law and
order.

Reason (R) As a matter of
deliberate policy strategically
sensitive  positions in the
Government were entrusted to
British officers.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Arrange the following reports in the

chronological order. Select the

correct answer from the codes given

below :

(i) Gopala
Report

(i)  Appleby Report (First)

(iii) Gorwala Report

(iv) First Administrative Reforms
Commission Report

Codes :

(A) () () (i) (iv)

(B) @@ (i) (i) (iv)

(€ (v) (i) (i) ()

(D) (@) (v) (i) (i)

Swamy  Ayyangar
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21.

22.

23.

24.

ffefad § ¥ e g foar =g fhan
o fob “fospraeiict <91 | URImE SO 8
% T W SFFIUNCHS Bl &7 2

(A) T el (B) sfoe Aieis
(C) . =gE (D) AR

= o @ i @ R ST gR &

foreprg ot afmeT % @ 3k & gAfed el

T?

(A) IHETMR - GRea +3Tghg

(B) Th. T=g, — YIeg {Hi0T =

g EliCEACIED

T

(C) 31U, Iqasl — HIST T FACRT

(D) TFdF e - el e,
3T e [T
Rl S Wi

A 5T T eReE @ A W IfEy

3 1 3T 7T Fe H ¥ TE W AT

(i) T Twiftad 3w aemHe
TefHTERRE

(i) o= T <SooUHe, dildiicad,
TSHHLYH TUe o

(iii) fetfespet 3ET & <ifomT FrarEeia

(iv) FooRaA  Teod T SAOTUHS
TSR : FIUCH TUE Hieetry

E T

(A) (v) (i) (i) (i)

B) (@) (i) (i) (iv)

(€ (v) (i) (@) (i)

(D) (i) (v) (i) (i)

T TR STeieae, iy a1 3 &1

L) o e ol B 1 o e e | S

T ¥ O U 9uidd s v difud

w9 TG GRT 6 S ATl IS HalT

HAT & | T8 TR o § 2

(A) oo St wgee

(B) . WiewmERt

(C) TeaE Ty, fagm

(D) UF =g, 9

D-14-13

25. AR | Hia-e 97 Bidl € 2

26.

27.

(i) T St FeE

(i) == afag @ am

(iii) Ve ¥ GEITd ¥ H gRatad
(iv) T SO TR W A FEmar geen
I 53 ™ @ HT IYANT A gT Tl
ST T TIT I

F

(A) (i) 7= (ii)

®) (i) & (iii)

(C) (i) 7@ (iv)

D) (i), (iii) 7 (iv)

Afipere (A)  SUtERTE WA %

3T UG Sl T W e e

HA 3R AT FEH FA 0 oA |

FHRT (R) ;U QrE-HHeh i %
3TAR WHR § HaAG9NeT UgT T
FEYR  AHEE &9 H folew
ATERIRET ST TaT AT o7 |

A

(A) (A) 3R (R) sHI Wl & @ (R),
(A) =l &l AT |

(B) (A) 3R (R) 3T Wl & wfe (R),
(A) i TE AR TR |

(C) (A)TH g, Al (R) 3TTT ¢ |

(D) (A) 3= ¢ i (R) T ¢ |

M UfeRl sl HICTRATER Sared
HiT | e e T F T W G |

(i)  TITCEETH SRR Ao

(i) T HiceR ()

(iii) TIRaTe ufqae

(iv) ToH JRMEe gur ST AidesH
E

(A) (@) (i) (i) (iv)

B) (@) (i) (i) (v)

(€ (v) (i) (i) ()

(D) () (v) (i) (i)
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28.

29.

30.

Which of the following is not correctly
matched ?

List—1 List— 11
(Prime Minister)  (Secretary/
Principal
Secretary /
Minister of
State in
PMO)
(A) Lal Bahadur L.K.Jha
Shastri
(B) Indira Gandhi P.N. Haksar
(C) RajivGandhi  A.N. Verma
(D) P.V. Narsimha Bhuvnesh
Rao Chaturvedi

Match List — I with List — Il and select
the correct answer from the codes
given below :

List -1
(Commissions/
Committees)

a. Economic i
Administration
Reforms
Commission

b. The ii. K.
Commission on Santhanam
Centre-State
Relations

c. Committee on
Prevention  of
Corruption

d. Railway
Corruption
Enquiry
Committee

Codes :

a b c d

(A) i i iv il

(B) i v i i

(©) i i iv i

(D) v i i i

Which one of the following is not a

report of Second Administrative

Reforms Commission ?

(A) Unlocking Human Capital

Entitlements and Governance —

List— 11
(Chairperson)

J.B.
Kripalani

ii. L.K.Jha

iv. R.S.
Sarkaria

A Case Study

(B) Social Capital — A Shared
Destiny

(C) Capacity Building for Conflict
Resolution

(D) Efficient Conduct of State

Enterprises

Paper-111
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31.

32.

33.

34.

Which of the following statements

regarding All India Services are correct ?

(i) New All-India Services may be
created only if Council of States
declares to do so by a majority
resolution.

(i)  New All-India Services may be

created if it is necessary or

expedient in the national interest.

All-India  Services may be

created by a law passed by the

Parliament.

All-India Judicial Service may

also be created by Parliament by

law.

Select the correct answer by using

codes given below :

Codes :

(A) (i), (i) and (iii)

(B) (i), (iii) and (iv)

(C) (), (i) and (iv)

(D) (i), (ii), (iii) and (iv)

Before independence, the

appointments to the All India

Services were made by

(A) Governor-General-in-Council

(B) Secretary of State for India

(C) East India Company

(D) Cabinet Secretariat

“On the whole experience seems to
show that the interests of the tax payers
cannot be left to the spending
departments.” This statement is made by
(A) First Hoover Commission

(B) Donoughmore Committee

(C) Haldane Committee

(D) Eleventh Finance Commission

Which of the following statements

about the institution of C.A.G. in

India is correct ?

(A) Itisa colonial legacy.

(B) It is an innovation of
Independent India.

(C) It performs auditing
accounting functions.

(D) Itis an executive agency of the

Government of India.

(iii)

(iv)

and
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28. T W ¥ =1 el ¥4 § gATd &l & ?
=i - | =t - 1
(e (wrra/TE

[/ oa .
T 5T )
(A) et TR1gT T &, B
NiESi)
(B) st Tiedt T, TRR
(C) Tir wifedt TUA. I
(D) dra. EEENECHCE
29. -l ® gEr-1| ¥ gAfe i T 53
T % H F el IR g
-1 =t - 1
(ImarT/atafaar) (3TeTEN)
a. THEIYHD i, S
veffRgee ERiill
R e
b. T A= ii. % FUEH
F¥ we Rerwrg
c. FHHEr 3T TEvH iii. TAE, =
3T
d. WA jv. AR, TE.
THITRT HHT TR
FT
a b c d
(A i i v i
(B) i v i
€ i i v i
(D) v i il i
30. Fefefed ® ¥ &9 @ uow, {5
TR QYR 3TENT T Uideis Tal & ?
(A) SR EET B : TR
UUE T - T W=
(B) A hideet - T TS et
(C) wufgel fafeem WR  Hiwmde
fetteager
(D) uftRERUeE FHeae 3 R Texmmess
D-14-13
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31.

32.

33.

34.

= 4§ B9 @ F Ee WRA™

Qar3fi & TR ° &l ¢ ?

(i) a9 ofEel YRA™ Tar & 34t
TUF T & Fehell © A T
I T FH F oW agHd
pricR=Rolc il

(i) T Eer TR Fare 1 39

T feior feman S wepan € 3

T T Afed WM oA

MEATTF & |

MG WRAT e =61 T Toy

% BT FRT AT ST THaT ¢ |

A WRAT e Yarei

fmior ot W% % HEA R TR

ST HAT Y |

T 52 el I T § Wl IW H

T BT

T

(A) (i), (ii) = (iii)

(B) (i), (iii) w= (iv)

(C) (i), (iii) T (iv)

(D) (i), (i), (iii) @t (iv)

A=l 9 Ugel Ee TR Janew s

TferT <l Tt off

(A) O STFRA-SA-HISIA T

(B) Hshall 31h W< ®R 3vea gRT

(C) ¥ gfvear AT R

(D) Hioe Ykl gRT

(iii)
(iv)

“Fel THATSRY, 3T 9d ¥ I8 Ul el &
%W%%ﬁaﬁ@éaﬂﬁmﬁ
faart w & ster ST owwar 7 T8
CERRET IR

(A) T gaX HHEE

(B) SHMIR ®H

(C) &wea HH

(D) TIREET ot ST

TRT &% Fa=rh T Heroiar WieTsd i

T o A H 30 H B 9T e e § 2

(A) TE SuFaeh formEaa € |

(B) T& W= WA i & Ugfa € |

(C) o8 Wi WRieT T S o Hr
FLAE |

(D) T& YRA WHX H  HEABR

AMTHIT & |
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35.

36.

37.

Match List — | with List — Il and select
the correct answer from the codes

given below :
List— 1 List— 11
Author Books
a. KL.Handa i. Parliamentary
Financial
Control
b. M.J.K. ii. Programme and
Thavraj Performance
Budgeting
c. Robert iii. Public
Presthus Administration
d. P.K.Wattal iv. Financial
Administration
of India
Codes :
a b c d
(A) iv i i
B) i 0 iv
(o) i i v
(D) i oivoodi
Assertion  (A) The Finance
Ministry  exercises financial
control over all the

administrative ministries.

Reason (R) : It is responsible for the
formulation and exemption of
the budget.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following is not a

feature of a good sample ?

(A) Sample should be big in size.

(B) Sample should be
representative of the universe.

(C) Sample should be reliable.

(D) Sample should be measurable
by known probability sampling
design technique.

Paper-111
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38.

39.

40.

41.

42.

Science is defined as

(i) an accumulation of systematic
knowledge.

(i) a method of approach to the
entire empirical world.

(iii) an approach which aims at the
finding of ultimate truth.

(iv) a mode of analysis that permits

the scientist to state

propositions.

Select the correct answer with the

codes given below :

Codes :

(A) (i) and (i)

(B) (iii) and (iv)

(C) (i), (i) and (iii)

(D) (i), (i) and (iv)

Which one of the following is not a
limitation of scientific method ?

(A) Scientific explanation is never
complete.
(B) It eliminates arbitrary and

ambiguous opinion.
(C) Conclusions are never final.
(D) It is very difficult to oppose
established opinion.

Which one of the following is not a

limitation of Questionnaire method ?

(A) Less expensive

(B) Problem of response

(C) Unsuitable for deeper study

(D) Less possibility of complete
information

According to Goode and Hatt simple
observation is most useful for which
of the following ?

(A) Exploratory Studies

(B) Descriptive Studies

(C) Diagnostic Studies

(D) Experimental Studies

Decentralization of functions and
powers of headquarters to the field
offices is known as

(A) Geographical decentralization
(B) Political decentralization

(C) Administrative decentralization
(D) Functional decentralization

D-14-13



36.

37.

T4

a b Cc d
(A) iv i i i
(B) iii i iv i
(S i 0 v
(D) i iv i i

afirpeE (A) : fommaem & @l
USTEe FACEl % SO faeiE
T gl & |

HROT (R) = A N e L
foTeT & T e SRR e e |

YA

(=N

(A)

(A) 3% (R) 3T @& & qar (R)
(A) F el AT F |

(A) 3R (R) 31 W&l & A (R),
(A) T TE AT TR |
(A) T &, AfF (R) 3T & |
(A) 37 & AfFT (R) T € |

(B)

(©)
(D)

T AT YR (FUeT) T T Tt

H 9 i G U TE & ?

(A) VRS Bl FEITHR T FEY |

(B) WSl H |HME N WA BT
MW |

(C) wfcsst =i favaa=ia g =y |

(D) Wil =A@ UGS Hidaa
AYHeT THATHT FRT HOAT BT
M |
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38. oM & F=farad § § T w9 H

39.

40.

41.

42.

g fepan ST € 2

(i) =TarId 9 & Faa

(i) 9ol vfas fava & uid
UMY i U fafy

(iii) = T B U B BT 32T
LG dledl SHIH

(iv) Toemor & T fafa STt o=es o
SR — o Socid ot ST Sl & |

T &2 T Fel ° ¥ T W T

%

(A) (i) T (ii)

(B)  (iii) & (iv)

(C) (i), (i) 7= (iii)

(D) (), (i) T (iv)

= 8 9 % 9@ o usia s dm

TIE?

(A) S A i ot g @ el |

(B) ¥€ eAHRT TS e foERI i
TET A € |

(C) Trepe et oft arfw =& e |

(D) Tfia I 1 TR 98 o el € |

1 & 9 eereredt egfa ol F A ¢
(A) HT G

(B) TR Wiftet st T

(C) & eTemae & fotd g
(D) U7 AT S HH GRS

TS Ud T o STIR WM et
ffafead # ¥ fhas v et
I E 2

(A) TENUICHS STERAT % foTT

(B) dUFTHE 3Tl & foT@

(C) TremIT® ezt & fo

(D) WAt ST & Tt

T & HE i v ® -
el § faehfsd e i 1 Fed € ?
(A)  dmferer faehsiesor
(B) TSHiTdeh fomchaiehor
(O BRUSIEEACEETY
(D) VTS Tahsieion
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43.

44,

45.

Assertion (A) : The plurality of
organisations and departments
at the District level has created
many problems.

Reason (R) District
Administration, in order to be
effective, must have a unity of
purpose and singularity of
approach which is often found
missing.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following is not correct
regarding developmental role of
District Collector in India ?

(A) He has a directive role in the
scheme of Panchayati Raj.

(B) His position in relation to
Panchayati Raj varies from
State to State.

(C) He takes initiative to take up

need based  development
programmes.
(D) He performs the role of

coordinator and extends help in
implementing development
programmes.

Protection of natural environment in

India is

(i) the responsibility of the State

under the Constitution.

(i) the fundamental duty of every

citizen of India.

(ili) mandatory function of the NGOs.

(iv) the legal responsibility of the
Region

National Capital
Planning Board.

Select the correct answer from the

codes given below :
Codes :

(A) (i), (i), (iii) and (iv)
(B) (i), (ii) and (iii)

(C) (i) and (ii)

(D) (iii) and (iv)
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46.

47.

48.

Which of the following programmes
are being implemented through the
watershed development approach ?

(i) Drought Prone Areas
Programme

(i)  Desert Development Programme

(iif) Integrated Wasteland

Development Programme

(iv) Integrated Rural Development
Programme

Select the correct answer from the

codes given below :

Codes :

(A) (i) and (ii)

(B) (i), (i) and (iii)

(C) (i), (i) and (iv)

(D) (i), (i), (iii) and (iv)

Which of the following is the rationale

of privatisation/disinvestment in PSES ?

(i) Release of the large amount of
public resources locked up in
non-strategic PSEs.

(i) Stemming the further outflow
of the scarce public resources
for sustaining the unviable non-
strategic PSEs.

(iif) Reducing the public debt.

(iv) Beneficial effect on the capital
market.

Select the correct answer by using

the codes given below :

Codes :

(A) (), (i), (iii) and (iv)

(B) (i), (i) and (iii)

(C) (ii) and (iii)

(D) (iii) and (iv)

“The growth of rural settlements
which  have  acquired urban
characteristics is very slow.” This
observation about the process of
urbanization in India was made in :
(A) 10" Five Year Plan

(B) 11" Five Year Plan

(C) National Sample Survey

(D) National Development Council
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43.

44,

45.

afwepe (A) ¢ e T W gieAt
T faur @ SEedr A eH®
TN ST H T E |
HRO(R) o Fofel s Bt el
B % faU e #H uHAr @R
fteahior i THEEAT ¥ g B
T

(=N

(A)

(A) 3R (R) T @& & @ (R),
(A) Tl TE =T |

(A) 3 (R) a1 T & wifs (R),
(A) Tt e T TR T |
(A) T €, e (R) s@ € |
(A) 38T & Al (R) T T |

(B)

(©)
(D)

e 3 foremeter @) foebrer <t s 3

IR Y f=iferd o @ o WEl T/l ¢ ?

(A) TEEd TT B ASEHVELE § STh
FreTeTe g & |

TEEdr I o Hey W SO et
ST 3T T2 H SONT-STT & |
T IMATTHAT- TN TThT HrshAl
T TR L ! Teed AT § |

qE UH FEEIhHAr P gHET H

(B)
(©)

(D)

fHate F=ar & 3% for wEshal &

TShaTora= § FETadT TS AT € |

IR § TSI ATATaRoT Sl TRI0T ;

(i) d@agm % o T H
SR ¢ |

(i) 9RG & U ANRE & Hiol®
FAA E |

(iii) TR QR Gemetl &t e i ¢ |

(iv) TS TSEET & AT e ah
Jerrteh AR € |

T T ;

&<

(A)

(B)

(©)

(D)

(i), (i), (iii) @ (iv)
(i), (i) wdi (iii)

(i) T (ii)

(iii) Td (iv)
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46. fTAfafEd § & i T HEHA WS
foerg Surm & qrem 9 ket e
TwE?

(i) & 9T &7 e

(i) % &7 T wEsy

(iii) THFad SR foh HEHH
(iv) Tt T fasm HEws
T TTT BT

FHT !

(A) (i) T (i)

(B) (i), (i) & (iii)

(C) (i), (ii) 7 (iv)

(D) (i), (i), (iii) T (iv)

47. frafatEad 9 9 w9 9 T& A-SaH &
frstientor/fafraer & qer § feu sa & 2

(i) IR-ImRE ofich STl ° &% W%
AT GETEHT BT STRY LT |

ERINE T ¥ 3 MRS
AH-JEH & WO & e
forer rEste @A % 31K

ek Sfevare S AT |
(iii) TSI 0T ol HH HEAT |
(iv) T SR OX SR T |
T T HIT
T
(A) (), (i), (iii) T (iv)
(B) (i), (i) & (iii)
(C) (i) <7 (iii)
(D) (i) & (iv)

48. “IE TN STl T SR H ah
Teq & i T 17 URG § AT F
Ty 4 gg feoqon = 0 9 fhad € 2
(A) ZHEt deEdE g
(B) TIREdl U=eNT AT
(C) U et v
(D) gt ferepr witors

(i)
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49.

50.

51.

Match List — | with List — Il and select
the correct answer from the codes

given below :
List—1 List— 11
(Committees/ (Reports)

Commissions)

a. Haldane I. Report on Control
of Expenditure
b. Plowden ii. Organisation of

Executive Branch
of Government

c. Mesterman iii. Report on
Budgeting and
Accounting
Political Activities
of the Civil
Servants

d. Hoover iv. Report of
Machinery of
Government
Committee

Codes :

a b c d

(A) v i i [

(B) iv i i i

(o). iv i i

(D) i i iv il

Which Five Year Plan has stressed
upon the involvement of voluntary
organization and  specifically to
supplement Government effort to offer
the rural people choices and
alternatives ?

(A) Sixth Five Year Plan

(B) Seventh Five Year Plan

(C) Ninth Five Year Plan

(D) Eleventh Five Year Plan

Which one of the following is optimal
model of policy-making according to
Y. Dror ?

(A) Pure Rational Model

(B) Incremental Model

(C) Economically  Rational and
Extra-rational Model

(D) Pure Rational and Economically

Rational Model
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52.

53.

54,

Assertion (A) : Public administration
theorists, instead of political
scientists, dominate the
rationalist approach to policy-
making and implementation.

Reason (R) New  Public
Management lays emphasis on
the deeper role of public
agencies in  managing and
delivery of public services.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Put the following stages of rational

policy planning process in the
sequential order :
(i) Appraisal
(i) Formulation of alternative

courses of action
(iii) Discerning problem
(iv) Review
Select the correct answer by using
codes given below :
Codes :
(A) () (@) (i) (iv)
(B) (i) (iv) (i) (i)
(€ (i) (@) (v) (i)
(D) (@) (i) (i) (iv)
Which of the following are the
definitional elements of public policy ?
(i) Declaration of goals
(i)  Proposed course of action
(iii) A declaration of general purpose
(iv) An authoritative decision
Select the correct answer from the
codes given below :
Codes :
(A) (i), (i), (iii) and (iv)
(B) (i), (i) and (iii)
(C) (i), (iii) and (iv)
(D) (i) and (ii)
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49.

50.

5l.

gl-1 T gA-11 & GAfera wifse T 3

T F H ¥ Wl IR g0
= - | = - 1

(wfufe/amar) (frare)

a. toed i, R e e
31T TRIUTEeR

i, TSN 3%
TR S A
TaTHE

b, wied

c. AT
TSI feAtehet
tfeefafest o g
Tafeet weicw

3T TS BT
FT !
(A v il i
B) iv i i i
©) i v i i
O) i i v i

T uadiE ST 3 wEEEr a1 Wiesw
AT B 9AIERT 3R eIt wreior
Al &l =97 3 faeredl H UgH
% IR WA i S W et g € 2
(A) S T AT

(B) HICell dereST FSTT

(C) =t dasi FisHr

(D) TIREE YeEdg FST

e IR F AR, Af-Fmior H gean

oieet e 5 | i a1 8 ?

(A) 35 AlMk® Higa

(B) eiyyat Ateet

(C) 3nfaIe &Y & AMfcheh Td dAohell TS

(D) [ dlichh T 3N &Y T dlfchh
et
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52.

53.

54,

ANfpe (A) : TSI SRR
YT Al THIRH % (HgABR
Hifq Fmor qur v &
IfFTaET SUMTH W B gUE |

%HROT (R) . A9 % U
qarsti & uaweE ddr foeer o
ST TSTEdr w3
e} iRt IR S STerel € |

T

(A) (A) 3R (R) I &t & @ (R),
(A) F el T F |

(A) 3R (R) 341 &t € @ (R),
(A) Ft TEl e TR T |

(A) T &, T (R) T € |

(A) 378 € T (R) T & |

(B)

(©)
(D)

ieher Aifq e & F=7 Siom 6t @@t
3R § A HIfT

(i) Hoaw

(i)  Sehfeaes T Hifd 6 fuToT

(i) oRomEEeT THwET

(iv) wHter

< T 7T e W W W Hel I A
T HIT

% :

(A) (i) () (i) (iv)

(B) (i) (iv) (i) (i)

(C) (i) () (v) (i)

(D) () (i) (i) (iv)

=1 & 9 ®9 9 ol Aifd & wies
TaE?

(i) et % s

(i) = 1 uafae amt

(iii) TR Sea Ht s

(iv) U Srfushie ot

e 58 T % W W el S g
B :

(A) (i), (ii), (iii) T (iv)

(B) (i), (ii) < (iii)

©) (i), (iii)) 7 (iv)

(D) (i) < (ii)
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55.

56.

57.

58.

Which one of the following makes
provisions for social security ?

(A) Indian Contract Act

(B) Maternity Benefit Act

(C) Indian Industries Act

(D) Indian Companies Act

Policy analysis is concerned with

(A) Finding out the impact of policy

(B) Intuitive judgments about the
effects of policy

(C) Prescription of policy rather than
explanation of policy

(D) Finding out the contents of

policy rather than the search for

their causes and consequences

Assertion (A) The role of the
national planning agency in the
formulation of  fundamental
social and economic policies is
gradually diminishing.

Reason (R) : Policies are now taking
shape in a greater degree from
debates in Parliament and from

the play of new social and
political forces within  the
community.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Which is not a part of the Telecom
Sector reforms in India ?

(A) Corporatisation  of  telecom
services.

(B) Grant of autonomy to Bharat
Sanchar Nigam.

(C) Introduciton of regulation.

(D) Adjusting to intellectual property

regime.
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59.

60.

61.

62.

63.

Which one of the following is correct

regarding ‘economic and social

planning’ ?

(A) Itisincluded in Union List.

(B) Itisa part of the State List.

(C) Itis incorporated in Concurrent
List.

(D) It is not in any of the above
stated lists.

Which of the following is known as
the third sector of Indian economy ?
(A) Public Sector

(B) Co-operatives

(C) Private Sector

(D) Joint Sector

Global Constitutionalism has
impacted India’s economic policy in
which of the following ways ?

(i) It has led to liberalisation of
trade.

(i) It led to the introduction of
competition in both the public
and private sectors of economy.

(iii) It led to encouragement to FDI.

(iv) It led to adoption of the policy
of privatisation.

Select the correct answer by using

the codes given below :

Codes :

(A) (i) and (ii)

(B) (i), (ii) and (iii)

(C) (), (i), (iii) and (iv)

(D) (iii), (iv) and (ii)

The Panchayati Raj Divas (Day) in

India is celebrated on

(A) 21% April

(B) 24™ April

(C) 2" October

(D) 14" November

Lord Ripon’s Resolution on ‘Local-
Self Government’ was adopted on
(A) 18" April, 1882

(B) 18t: June, 1882

(C) 18" May, 1882

(D) 18" December, 1882
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55.

56.

S7.

58.

GrIfTeh GRET o waeH e 5 9 fead
T S € 2

(A) YR GfesT sitafam

(B) WG Y Ity

(C) YRA™ 3= Srfam

(D) YR ST At

T forvetoor g8 ¥ fohad Twaf-d & 2

(A) =TT o TeTe ST Oar ORI |

(B) ifd & Wi & IR H SFAURONT
ot |

HfT P AREAT B ST AT I
TEIRT T |

T % HROT q=AT GROMH B @
H ST A H foTuTewg H aar

AT |

(©)
(D)

AfHYT (A) : HifeTs THISS - qe
MMy Aifqal & FEuTr § e
i TSttt @ gfaer o o
I B B ST W@TE |

FHRT (R) CHE9E A W9 @
TEE H FEM M Ud
TSI Jel o TR ¥ I
et Sgd &% qH THER TV
WE |

%<

(=N

(A)

(A) 3X (R) 31 @& & qan (R),
(A) =l &l AT |

(A) 3R (R) 3T W&l § oA (R),
(A) Ft Tel T e T |
(A) T &, e (R) 3@ & |
(A) 3 ¢ Al (R) T & |

(B)

(©)
(D)

= & ¥ o9 4@ 9YRG § oo™ & §
QYR T AT & & ?

(A) T HaTe T TR

(B) ¥Ra ¥OR g & @ usH
FT

fatramt a1 =t =61 e

Sifgh THRT & W TSI

(©)
(D)
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59.

60.

61.

62.

63.

s 3R WHISTeh A T o a) o
frifera A T W € 2

(A) TE I9 gl § M § |

(B) I& IST Tl HT W T |

(C) =g QHEST gHadr gt | o
e |

TR Sooid IWEd H 9 fomdr
A AT |

= 0 ¥ 9 ardm erieme=n &
“AIERT &1 T T & 2

(A) dESHE 8 (B)  Feshian
(C) Freit &t (D) 4 &=

AfYass Hiaumerg 9 9YRd W 39w

Aifqat @ = ° 9 e w9 ovifea

fpar € 2

(i) 399 ARG STRHT g3 & |

(i) TO9 o =g & WESHH d
TS ST & | HicRe AR g T |

(iii) Ta= Tasei weet faf=m =t sgrer
e e |

(iv) 3O TFsTeReor &6 Aifq ==
AN o T &

< T T 2 i GerEer W Hel I H

FAE HIT

%

(A) (i)‘la’f(ii)'

(B) (i), (ii) w= (iii)

(©) (i), (i), (iii) T (iv)

(D) (i), (iv) T (ii)

IR § U= O Ko = 0 9 e

fe A ST € 2

(A) 21 3micr

(C) 2 &HHT

(D)

(B) 24 3t
(D) 14 Fo=R

e w1 = WRET WU
e SR T T ?

(A) 18 =7icT 1882

(B) 185 1882

(C) 187 1882

(D) 18 fswerY 1882
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64.

65.

66.

Which one of the following is not
included in Eleventh Schedule of
Constitution of India ?

(A) Planning for economic and social
development

Non-conventional energy sources
Poverty alleviation programme
Technical training and vocational
education

(B)
(©)
(D)

Which of the following is/are the

recommendations of P.K. Thungon

Committee ?

(i) Fixed term of 5 years for
Panchayati Raj Bodies.

(i) The Panchayati Raj Bodies

should not remain superseded for

more than six months.

District Collector should be

made the CEO of the Zila

Parishad.

(iv) Setting up of State Finance
Commission.

Select the correct answer from the

codes given below :

Codes :

(A) (i), (i), (iii) and (iv)

(B) (i), (iii) and (iv)

(C) (iii) and (iv)

(D) (iv) only

(iii)

Which one of the following has
prescribed a local Government led,
community wide and participatory
effort to establish a comprehensive
action strategy for environmental
protection, economic prosperity and
community well being in the local
jurisdiction ?

(A) UN Millennium Development
Goals

(B) Local Agenda 21

(C) World Urbanisation Prospects
2001

(D) An Urbanizing World : Global

Report on Human Settlements
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67.

68.

69.

Assertion (A) Civil  society
organisations promote
participative democratic

practices.

Reason (R) : The salient feature of
participative democracy is the
presence of a large number of
voluntary agencies.

Codes :

(A) Both (A) and (R) are correct

and (R) is the correct

explanation of (A).

Both (A) and (R) are correct,

but (R) is not the correct

explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

(B)

(C)
(D)

MNREGA is a programme that is

(i)  open to social audit

(i) implemented by the Gram
Panchayat at the village level

(iti) implemented by the village

development officer and Gram

Panchayat at the village level

meant for all unskilled able

bodied persons desirous to seek

work

Select the correct answer from the

codes given below :

Codes :

(A) (i), (it) and (iii)

(B) (i) and (ii)

(C) (), (i) and (iv)

(D) (i), (i), (iii) and (iv)

Assertion (A) : Rural Development
Programmes suffer from lack
of effective monitoring and
evaluation.

Reason (R) : Rural Development
Administration is deficient in
professionalism and  have
multiplicity of authorities.

Codes :

(A) Both (A) and (R) are correct

and (R) is the correct

explanation of (A).

Both (A) and (R) are correct,

but (R) is not the correct

explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.
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64.

65.

66.

T § ¥ e 9Ra o Siagm &

REd ST | SniHet e fohar e € 2

(A) 3k wd gt fawm & forg
ERIEE]

(B) TR-URTIRe STl &l

(C) TRId YT HIIsRH

(D) TF-itehT UTRTeI0T eI STadI Tt

qF. orE qEd a aERet T ¥ B

qE?

(i) Ot TSt Mt & T 5 aut
g wwe |

(i) U I HeEr B P T g
aferep wivT-feafa 7 =& e =fen |

(iiii) Foremeter =t frem ofewg =t & § @
AT AT |

(iv) T Tasd ST ol e ST |

T 53 T el § ¥ TEl W g

FHE

(A) (), (i), (iii) T2 (iv)

(B) (i), (iii) 7= (iv)

(C) (i) T (iv)

(D) %= (iv)

= 4 @ fFoe @ siyer &9 §
AEAERT GO, ATE gy R
TR Fes & fou U wmE w-
WHIT ©ftd w % ot =
WHR & HH, Jd TRE qA Feuri
AT B R o € 2

(A)
(B)
©)
(D)

g U, et Saeuse Mo
FAMReT TSl 21

Joe IRTATESII TG 2001

T REENTT deg ; Toligd RUie
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67.

68.

69.

Afmem (A) : ATRE O @
T Tl 3ot € |

HRT (R) ;W ST B T
oy sga §em H wEeEer
AT Bl SuREATT & |

E T

(A) (A) 3R (R) sHI Wl & @ (R),

(A) =l &l AT |

(A) 3R (R) IHT Wel &, aAfep

(R), (A) = T&E =T T ¢ |

(A) T &, Wi (R) 1T € |

(A) 38 ¢ Al (R) T & |

(B)

(©)
(D)

T hrdsed 7T | O Toher weifre € 2

(i) o ST TR0 & ol Qe € |

(i) I€ 9 R W UM J=O&d gN
SHifver T ST & |

(iii) T8 7\ TR W W fahra fsry
TqAT T UATI GRT HrAad T
ST E |

(iv) I8 HH ge & T Tl 3TFE
TS IR At Al & ford
BT |

T 7523 T Fei § ¥ WEl ST e

FE :

(A) (1), (i) & (i)

(B) (i) = (ii)

(C) (), (ii) T (iv)

(D) (), (i), (iii) 7 (iv)

Afipe (A) : T TR HEHH
TR STSTA0T eI odieh i
F 9§ difed € |

FHRT (R) : TTHioT Tk wremeE
AR B HH & a1 T
TET T MHRT € |

E

(A)

(A) 3R (R) 31 @& € @ (R),
(A) = TE AT E |

(A) 3R (R) AT T &, b
(R), (A) =l W&l = F&l & |
(A) TF g, AfF (R) 1A ¢ |
(A) 37 & AfFT (R) T € |
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70.

71.

72.

Arrange the following in a
chronological order :

(i) Rural-Urban Relationship
Committee
(i)  National Commission on

Urbanisation

(iii) Taxation Inquiry Committee
(iv) Local Finance Inquiry
Committee

Select the correct answer from the

codes given below :

Codes :

A () (@) (@v) (i)

(B) () (i) (i) (iv)

(C) (v) (i) () (i)

(D) (i) (i) (v) ()

Rural Development means :

(i)  Provision of social services

(i)  Improving infrastructure
facilities

(iii) Providing economic help to the

individuals and groups for self

employment

(iv) Capacity building of rural local
government

Select the correct answer from the

code given below :

Codes :

(A) (i), (i), (iii) and (iv)

(B) (i), (ii) and (iii)

(C) (i) and (iii)

(D) (iii) and (iv)

Arrange the following programmes for
rural development in a sequence and
select the correct answer from the
codes given below :

(i) Intensive Area Development
Scheme

(i) Tribal  Area  Development
Programme

(iti) Drought-prone Area Programme

(iv) Command Area Development
Programme

Codes :

(A) (), (i), (iii) and (iv)
(B) (i), (i), (iii) and (iv)
(C) (iv), (iii), (i) and (ii)
(D) (i), (iv), (i) and iii)

73.

74.

75.
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National Capital Region Planning
Board is

(A) Statutory Body

(B) Created by an executive order
(C) Established by the Planning
Commission

Created by the Ministry of
Urban Development under
judicial direction

(D)

The  Community  Development
Programme was started on the
recommendation of

(A) Krishnamachari Committee

(B) Project Appraisal Committee
(C) Planning Commission

(D) Balwantrai Mehta Committee

Which of the following statements

are correct about the rural co-

operatives ?

(i) They are schools of social
dialogue and democracy.

(i)  They are based on the values of

self-help and self-

responsibility.

They can transform survival

type of activities into legally

protected and productive work.

Their members are generally

both producers and

beneficiaries.

Select the correct answer by using

the codes given below :

Codes :

(A) (i) and (ii)

(B) (i), (ii) and (iii)

(C) (i), (iii) and (iv)

(D) (i), (ii), (iii) and (iv)

(iii)

(iv)
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70.

71.

72.

AT =t FITHIER Sared i
(i) oI-3RE RereHT wHet

(i) AYFeT HHYHE 3 SRS
(i) Y STEd HH

(iv) et HIEA Tt el
frefafEd et 1 ST P gr Tl SR
T T HIT :

%< !

(A) (i) (1) (iv) (i)

B) (@ (i) (i) (iv)

(C) (iv) (i) (i) (i)

(D) (i) (i) (v) (i)

TTHIoT fereRTa T 37 & —

(i) QmERsTF Sarati 1 aaed |

(i) rEmTa gaenet & GErAT |

(iii) @ISR & oAU =i iR Tl
T SEF AT TS BT |
TTHIOT T AIHR HT G
FmToT ST |

1 752 el & 9 el TR 1 T HiT
—

(A) i), (i), (1ii) T2 (iv)
(B) (), (i) = (iii)

(C) (i) 7 (iii)

(D) (iii) T=m (iv)

(iv)

ST I T4 HIT |

(i) T & fom A

(i) SH-STq & o Hrisy
(i) TGS & HEEH
(iv) e &7 o Hres
T
(A)
(B)
©)
(D)

(1), (i), (iii) 74w (iv)
(i), (1), (iii) AT (iv)
(iv), (i), (i) @& (ii)
(i), (iv), (i) & (iii)

73.

74.

75.
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UL TS &3 TS e —

(A) TH Jeh AT HEA MR G
T

HIEABRI STSTT FRT FAMHT T T |
ISHT ST FRT wfua e
™

faes Fee % eidva IRl
farepra Hamer 3 wnfud feean |

(B)
(©)

(D)

TETae T rsh el e
9 IRy TR T o 2

(A) FOTEER G

(B) URAISHT Hearish |rAfd

(C) SISHT 3T

(D) STEd™ e |t

frafafad & ¥ &9 ¥ F U

TEhR! QAT o a8 H el € ?

(i) o QmI foar famst we v
! IS & |

(i) o @d WEEar iR @F IaRarEr

oIl T SR € |

o TSN Wbl Tiarareat

= fafy g1 Wiwa R IaRs

Tt B Rafdd Y G € |

3 WS VR SRS el

AT AT 2 B §

feffad el &1 ST FRd gT T

3T 1 TG BT |

T

(A) (i) = (i)

(B) (i), (ii) T (iii)

() (i), (iii) 7 (iv)

(D) (i), (i), (iii) T (iv)

(iii)

(iv)
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